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6.4 Extra Graph Practice Name

1. Let h be the continuous function defined by h(x) =.[ f (t)dt over the inter?ﬂ) (0,8]. The graph of f(x) is given
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a) What is the particle’s velocity at ,_E_/% Att= g ‘ .
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2. Lets :j f (x)dx be the position of a partlcle moving along agrdlnate axi$ [0,10] ) The graph of f(t) is given.
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Graph of f’

Area=3

(5.-2)

The figure above shows the graph of f ’, the derivative of a twice- differentiable function f, on the closed
interval 0 < x <8. The areas of the regions between the goi“h of f > and the x-axis are labeled in the figu Z r
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The figure above shows the graph of f’, the derivative of a twice- differentiable function f, on the closed

interval 0 <x<8. The areas of the regions between the graph of f > and the x-axis are labeled in the figure.
Let f(0)=9.
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b. Find the maximum value of f(x)on [0,8]. Justify your answer.
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Let p be the antiderivative of f and p(-2) =-8. Graphof f —= ?I( y>

a. Write an expression for p(x). \
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b. Find the minimum value of p(x)on [-8, 6]. / \g
Justify your answer. _
y 5:3?'(\0 (E’," ( + -\ 3
C,NL\L a3 b - A L
% (Q(x)j K
-8 | -20 X -3
Cay = -3+ \ sl
4 |4 e 5-2
- |-/l PR - -{-1)
=~ -y- Yt =
L 10 j@%(a
4 It
’J?L\() nesS o mmn 53-20 o Pu) =-9 ijé&
)(7‘5 bIC. x:‘3 IS MM\AP‘L _ _?,} lZ
ond ' (x)=H(Q) >0 4o tha “%k“t -2
Rl 57 P-b) = ~?~S fe)dt
o =% b
- —g_g
P(los - _g—}JEé()(’)CI“}

—Ht\1— g = O



